EITFV DY 9:50:00

hands of the clock Nine fifty.
81 85
rC ,Sié,
AV 3MF45)
what time is it? three four.

(will it be?)

82 86

Ny C
8HF30457/8HFIT A SR
(7=9)
eight thirty when added
Half past eight
SA
OFFE 154y U<
(OX)

nine fifteen

(Quarter past nine) when subtracted

84 88




89

acl,

HTITES

applicable

93

VRS

to borrow from

HHoE 1D.5A
) o
one of
to get from
NE ZI1ED 3O5A
Fro
counting three of
sticks
<V _EDY EvINIEICE
> (11°5)
carry over
measure

92

96

weigh




DOEHD 7= AN
indication of unit unit
gV — b i

FA—F &

centimeter line
VA=KV For g IR
millimeter straight

10\ 5 &< }d

A R

divide straight line

100

104




Y Ny ANE
(&%)
width R
pile on
ZIZ LD HEHEL LD
( )
of each b
get the sum of
HiHrHE T Vil =
(Bb2)
bunch
together
&9 ZAZT
. (£522)
estimate
gather up

108

together with

112




031

calculate by hand

113

117

LT

(7<)

hide

AR TH

(WIH>z. D)

to change to
(substitute)

114

118

YECoY s

K1)

if distributed
(distribute)

acl,

I5Y 1A

DNUES
— T~

(DZB)
mistake remains
(error) (remainder)
Ve 59LTC

1< el

(K59)

one group think of a way

116

120

(device)




Th >3
LA DI ET
(BT D)
marks/points give
(to give)
FHET CwA Lk
(FH5)
order
mix

122

126

EV7ZL

288

(E0729)
take away two ways
(to take away)
== t=h»
bOVET E<rn

124

$Y=%))

to get

increase
(ex: in height, in cost)

128




x  (DT5) 13L2
multiply one lme
= SR
=7
height to Increase
HOX KR
thickness diagram
My \ KIZA
%&ib 4 NG D
twice of

136

132

four people each




137

<<
JLIL

multiplication

NZH9

(DZ2e)

surround
(gather around)

141

F0V
Ul
O~

ZXNEHoT

GRS,
perimeter/around to take away
(cut off)
Y
G B2 O
SN ®HA
point to draw a line
Zh 3DTZ A
circle multiplication of threes

140

144




2cmd DI E ST
2em T DIZLE D)

divide into two cm. each

1

BRT

approximate

149

HHb LT

03y,

(BT HIE)
0 accurate
way of expressing
1m(A—RL) -fH H+ A
(T ZLwH AX)
1 meter
two hundred
fifty—six
1m = 100cm

148

T2 22 54K
TA Hg
number more than

a thousand

152




WHIZH

— B IZ5720 g D

5 cars in a day
5 questions a day

In japanese, DAI is used for vehicles

and themes, and problems to be
solved

157

—7TJ7 (WBEA)

ten thousand

153

A M ITFL

= 4 ®

a triangle

158

9999 DX DI

the number after
9999

15

L H»< FL

U £

square

159

HEWVDT

how many more

155

—PH—ETHNTNET
open from — to —
Open from 9 to 5 o’clock

160

[LA T2

opposite

156




